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UNIT - 11 - GEOGRAPHY OF INDIA - PRACTICE QUESTIONS

1. Choose the correct statement/statements related to Chernobyl:

QerCearrled Qsrgurer sfluren sapm/sFapmasmearsd CarHOS0H:

I. Chernobyl (then Soviet Union) nuclear accident happened on 26 April 1986.
QerGearm9e (LICurengw Gerelws weflwen) am 2me alusg 26
gurge 1986 germ HspHS5S.

II. The radiation emitted was more than 400 times greater than that released by the
atomic bomb dropped on Hiroshima (Japan) in 1945.

1945@e ahCGrraflonr (guumer) g ofFliulL an Geawe efL 400
LLEG SHswran sdHiaiss QEHNMHE CeuefliiniLg.

II1. The Chernobyl nuclear accident remains the largest nuclear accident in history.
QerCearmi9ed am 2w uUSH 2@ws eaurrpiled Wsl CQuflu e
dugsns uSleundluererg).

(A) Ionly
| L @EW
(B) IIonly
Il L @b
(C) IIIonly
Il wl @G
(D) I,IIand III
l, I wpmd
(E) Answer not known

allenL Qs Flwellcrenc

2. When was the Ukrainian part of the exclusion zone declared a radiological and
environmental biosphere reserve by the national government?
2 sengerr B ‘HHF Quéselwed Fry wLHHL FHMFSWS 2 UNFCasTerl QUL S’
e HBILH Hremmsssne alCurg flelssliulLg?
(A) 2016
(B) 2017
(c) 2018
(D) 2019
(E) Answer not known

cenL Qg flweilcrenc
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3. Which of the following is not a primary pollutant?

emeumeuemeupdled erg (WHemend LIKUBHSSH ST jeven?

I. Oxides of Sulphur
FOUF LY &m&(0H
II. Ground Level Ozone
gLl L gGaFmer
III. Smog
ueaflliyens
IV.Particulate Matter
FSET QUL S6r
(A) IandII
| womw Il
(B) IIand III
Il womw
(C) Illand IV
N womwb 1V
(D) I,II, Il and IV
L1, 1 wpmo 1V
(E) Answer not known

cenL Qgflweilcrenc

4. Match the following:
Qumrms g 5:
1.Medical wastes -
LHSFIe SLe|ser
2.Flammable wastes -
SUUPDS Falgw SHley e
3.Household hazardous wastes -
G4F1F UTWLST SLfle|ser
(A) 3 1 2
(B) 1 2 3
© 3 2 1
1 3 2
(E) Answer not known

alenL Q5 flweilcrenc

UNIT - Il - GEOGRAPHY OF INDIA

1. Hypodermic needles
LHwerU®SSLILIL L 2adlser
2. Organic solvents
S0 Sen L6 s 6T
3. Automobile battery

QUTS G LAl 6T & 6V 6T & 6IT
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5. Which of the following are the major causes of water pollution in India?
emaupeuamaupmer @pSHwneledr B wremLsqsstar W Hw sTremrmser wreneu?
I. Urbanisation
[HSTLOWILDTE & 6D
I1. Industrial effluents
Qsrfnsrenc &Lfle|ser
ITI. Sewages
siflay By
IV. Agricultural runoff and improper agricultural practices
Cauernair 57 aufiECHTLO LHMWD perpwdHn Ceuermer BenL (Lpenm s 6T
(A) IandII
| womw Il
(B) I,IIand III
I, I wpmw I
(C) Mand IV
Nl womw IV
(D) I,II, Il and IV
L, 11, 1l wpgo 1V
(E) Answer not known

cenL Qgflweilcrenc

6. When was India the largest country of origin of international migrants?
eriCung sFeuGses Yowuwieiled @pHwur Vsl Quilw prors HspPHSEH?
(A) 2019
(B) 2018
(C) 2017
(D) 2016
(E) Answer not known

cenL Qg flweilcrenc
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7. Whichisone of the largest metropolitan cities in India lies on the South-eastern coast?
Qsendlps® sLpsamruiled enwhglerer @bHwreler WSLCUAW QU@mBSTLDL 6rg?
(A) Delhi
Ql_cvedl
(B) Chennai
Q& ctremn cur
(C) Mumbai
(PenL
(D) Kerala
Carerm

(E) Answer not known

cenL Qg flweilcrenc

8. Whichhelpsinthe quickripening of mangoes alongthe coast of Keralaand Karnataka?
Csperm HMID SFHILE SLHasIl UGS seaile ellenearud wriisTUsea ellenryeiled
QYhiusHE ahs STHYISE 2sadlenpear?

(A) Loo
2]
(B) Norwester
BTFoleuav L6
(C) Mango showers
LOM@H &M T 6D
(D) Jetstream
QgL stHGomiLLb
(E) Answer not known

adenL Q5 flweilcrenc
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9. Match the following:
Qumm s g 5:
Season Month
LI(HGuLD LOIT & M1 & GIT
1.Summer season - 1. January—February
CarenL&smeLd sarafl s o YWlreufl eueny
2. Winter season - 2. March—-May
GeflFsmeLd wrfE WP G euenry
3.Northeast monsoon season - 3. June—September
ULSPEG UHaSSTHN ST ggoen (PH® GELILDUT cueni
4.Southwest monsoon or Rainy season  — 4. October-December
QseCHE UmUSSTHN STeLb S&SCLIUF WPF® 1g&DOUT eueny
a2 1 4 3
1 2 3 4
©4 2 1 3
M1 3 4 2

(E) Answer not known

alenL Q5 flweilcrenc

10. Choose the correct statement/statements from the following:
Nemeu@euemeupmier sflwunen smpm/sFmpmsanears CsiHols0H:

I. Weather refers to the state of the atmosphere of a place at a given point in time.
anaflene ererlg @@ GOUALL QL SHéd 2 rer cuafloerL s dHen
Serenems GHLULSTGLD.

II. Climate is the accumulation of daily and seasonal weather events of a given
location over a period of 30-35 years.
sroflene erarug @@ GSHUIALL ugduler swry 30-35 gy ar® syrsef
aunaflenewenwd GMHLULSTGLD.

(A) Ionly
| L@
(B) IIonly
Il @
(C) IandII
| wHomibd I
(D) Neither InorII
b @Qevene llb Qavene
(E) Answer not known

cenL Qg flweilcenc
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11. Choose the correct statement/statements:
sfluner sapm/sapmsamers Csie CFUs:
I. The peak of Anaimudi is the highest point in the peninsular plateau.
g manpigd Asrd Fuspu SLLLOGe 2wibss SAsTorELb.
II. Guru Shikhar, with 1722 m, is the highest peak in the Aravalli range.
S ramd waastsrflar s 2 wrorer Aasgnd G@m Asry (1722 15) <y @LWwb.
(A) Ionly
| L@
(B) IIonly
Il bW
(C) IandII
| womd I
(D) Neither InorII
b Qeeme llb Qaovene
(E) Answer not known

dlenL Qg flwellcvenc

12. Choose the incorrect statement/statements:
seupren Fapm/sapnsemerd Czie CFwis:
I. The northern part of the Western Ghats is called Sahyadris.
Cone Qsr_issl weaowler aLsE UGH Fursfl aearm mPsEsLULGSDG.
I1. The Eastern Ghats is also called Poorvadri.
fpses Csrijsdfl weawasear Liaurdlfl aearmb eanpssiu@EDng.
(A) Ionly
| @b
(B) IIonly
I bW
(C) IandII
| wHomibd I
(D) Neither InorII
b Qéveme llb Qaovene
(E) Answer not known

alenL Qs flweilcrenc
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13. Which is a tri-junction of the Anaimalai Range, the Cardamom Hills and the Palani
Hills?
QM LMmSESTLY, gassTl waogser wHmWb Lpell wamasellsr wWshs
erg?
(A) Kodaikanal
QarenL_&smeme
(B) Palani
vpefl
(C) Anaimudi
S enen(plg
(D) Ooty
o6 Iq
(E) Answer not known

alenL Q5 flweilcrenc

14. Where is the active volcano in India located?
@iswureiley Qewou@Bb efloene 6rmiE@ 2 crerg)?
(A) PittIslands
e Sey
(B) Lakshadweep Islands
QoL gsSe e
(C) The Andaman and Nicobar Islands
Sbswren H&CsTUT Soyser
(D) The Himalayas
@uwwwene
(E) Answer not known

cenL Qg flweilcrenc
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15. Assertion (A) : Narmada and Tapti are the two rivers situated to the south of the
Vindhyas and flow westward.
gapm (A) @ apSHwu weaulear QsHCs enwpgerer Qram® BHHser HILFHT LHMILD
s5U8 g fluemes CuopE Crradl umidermen.
Reason (R) : Their movement towards the west is due to the presence of a rift valley
in the region.
sryemrd (R) @ @uUu@duled @ Wertey udaardsnd@ QUuugmed Qe GCuno
Cprsdl pardlenmen.
(A) (A)is correct and (R) is incorrect
sgpm (A) &fl: srpewrd (R) seum
(B) (A) and (R) both are incorrect
gapm (A) womb sryewd (R) @reawrGd seum
(C) (A) and (R) is correct and (R) is not the correct explanation of (A)
gapm (A) womd sryewrd (R) sfl: sryewrd (R) sapm (A) elparer sflwmer
D) - AN
(D) (A) is correct and (R) is the correct explanation of (A)
gpm (A) womd sryewrd (R) &fl, sryewrd (R) sapm (A) elparer sflwmer
ofler& &Lom @ LD
(E) Answer not known

alenL Q5 flweilcrenc

16. Which channel separates the Andaman from the Nicobar group?
Thg sToaml Hswrer SeydsmlLmsmer HECasTul $eoyddal L kisafledlmbs
A& ma?

(A) Nine Degree Channel
9° smeeumul
(B) Ten Degree Channel
10° smeeuml
(C) Eight Degree Channel
8° smeeumul
(D) Both (b) and (¢)
(b) wpm> () @ranELd
(E) Answer not known

denL Qg flwellcdenc
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17. Assertion (A) : In Andaman and Nicobar Islands, the climate remains hot and wet
throughout the year and has dense forests.
gapm (A) : opswrer H&ECsmury Seyseafler srofloe Hearh Wb
Qeuliuwrgeyd, FILIS6L LHNID LIHS SThHEmers Gsrawperers.
Reason (R) : The Andaman and Nicobar Islands lie close to the equator.
anyewd (R) : ybswren H&Caruny Seysear ywisdu Cransseg @mHd 2 ererer.
(A) (A)is correct and (R) is incorrect
sgpm (A) &fl: srpewrd (R) seum
(B) (A) and (R) both are incorrect
gapm (A) womb sryewrd (R) @raw@Gd seum
(C) (A) and (R) is correct and (R) is not the correct explanation of (A)
gpm (A) womd sryewrd (R) sfl: sryewrd (R) sapm (A) elparer sflwmer
aflerd &6
(D) (A) is correct and (R) is the correct explanation of (A)
gpm (A) womd sryewrd (R) &fl, sryewrd (R) sapm (A) elparer Fflwmer
feT& &Lom @G LD
(E) Answer not known

dlenL Qg flwellcvenc

18. Choose the correct statement/statements:
sfluner sapm/sapnsmeas Csie CFus:

I. Kavaratti is the administrative capital of the Lakshadweep Islands.
QalssSosdlar Hjourss seamapsrb seaurlly L GL0.

II. The southernmost tip, the Indira Point, is a part of the Andaman Island.
Sbswrean Selenr CQgeanCGamy emer “‘@BHyr (enen” eremm
SmP&ESLILGE D).

(A) Ionly
| L@
(B) IIonly
Il wL @b
(C) ITandII
| womw Il
(D) Neither InorII
b @Qavene llb Qevencw
(E) Answer not known

allenL Qg flwellcvenc
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19. Choose the incorrect statement/statements:
seupren Fapm/sapmsemerd Cziey CFwis:

I. Lake Chilka (Odisha) is the largest lake in India, located to the southwest of the
Mahanadi delta.
waErpd CLoLrelnE CzarConCs enwhgerer failar gfl QbSHwmrel e
WasLCuflu srwe gflumgLwb.

II. The Vembanad Lake lies between the deltas of Godavari and Krishna.
Cargraufl dm&@wL SHmeayeart HYHnsEGw QoL Cu Cauwbuprh oifl
S|eMLOH G ETETS).

(A) Ionly
| @b
(B) IIonly
Il @b
(C) ITandII
| wHombd I
(D) Neither InorII
b Qeéeme llb Qaovene
(E) Answer not known

denL Qg flwellcrene

20. Where do the Eastern and Western Ghats meet?
Slpse womb ConE CQsTLFsfl wawsea arGs Fhisdearmen?
(A) Nigiri Hills
Hoodlfl wene
(B) Palani Hills
vwefl wene
(C) Cardamom Hills
ESTU DN
(D) Anaimalai Hills
QL EEOEME LOEHG
(E) Answer not known

denL Qg flwellcenc
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21. Choose the correct statement/statements:
sfluner sapm/sapmsamers Csie CFUs:
I. The coastal plain between the Mahanadi and Krishna rivers is known as the
Northern Circars.
w&THS LHNWL Hmeweanrr FHEE Qe Cuuner sLHasmr Fwbeuaf
QULFFSSMT eTeirm emp&sLuBEmsg.
II. The southern part that lies between the Krishna and Kaveri rivers is called the
Coromandal coast.
fmegewrm wHmd srellfl Y oHMHE Pl LuGH Cempweme
SLHST TEed mP&ESILGSHDG.
(A) Ionly
| G
(B) IIonly
I bW
(C) IandII
| womw Il
(D) Neither InorII
b @Qaoveme llb Qevenew
(E) Answer not known

alenL Q5 flweilcrenc

22. Pulicat Lake is located between which states?
upCaupsr® gfl apHs wrhloksErsd QLG Henbhg)eTerg)?
(A) West Bengal and Odisha
CohE euismerd WHNID 6lq&T
(B) Karnataka and Kerala
sFBTL&T wHnw Gasyerm
(C) Odisha and Andhra Pradesh
@®gsr LHMWL Y HSru KGrCssw
(D) Tamil Nadu and Andhra Pradesh
0PETE LHYIL YHATL KTGCsED
(E) Answer not known

adenL Q5 flweilcrenc
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23. Which of the following statementsis/are correct regarding the Lakshadweep islands?
Qe ssSeyser QarLiurs Neraumbd Fmpnseisd ergl/erene Fflwumereneu?
I. Ithad three divisions, namely Laccadive, Minicoy and Amindivi.
Qalss Sa), Wallsamd womb ey So sl LBiser g Hw epern)
Wfleyseners Q&meiq (555
I1. It was named as Lakshadweep in 1973.
197390 @ W QoL ssSaser e JampsslLbGEng.
(A) Ionly
| b @b
(B) IIonly
I bW
(C) TandII
| whmib Il
(D) Neither InorII
b @Qavene llb Qevencw
(E) Answer not known

alenL Q5 flweilcrenc

24. Which channel separates the Lakshadweep Islands from the Maldive Islands?
Ths STl QoL sdSe|damlLiisamer wrosSeladmbs NsSng?
(A) Nine Degree Channel
9° smeeumul
(B) Ten Degree Channel
10° smeeumul
(C) Eight Degree Channel
8° smeeumul
(D) Eleven Degree Channel
11° sméeumul
(E) Answer not known

clenL Qs flweilcrenc
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25. Consider the following statements.
Nereu(pHLd FoHMISENET &T6HTS.

I. Grainsin the soil are of three categories, namely, clay, silt and sand.
sefloeir, wewred WHMID Wewrwerry Ugal (Silt) erewm eperm cuenssermsL
weargserser NfssLLGSDG.

I1. The Indian Council of Agriculture Research (ICAR) , set up in 1953, divides the
soils of India into seven major groups.

1953 gb e QprimsiuL. @nSwu Geuernamr HrrlsHls SP&WD
@idwureile sremriiL@L e cuanssener / Kfleyserms cuansLILBHSSHu|eTerg).
Choose the correct statement/statements:
sflurer sapm/sapmsamers Csie CFUs:
(A) Ionly
| @b
(B) IIonly
Il LB
(C) TandII
| wHomibd I
(D) Neither InorII
b @Qaveme llb Qevencw
(E) Answer not known
alenL Q5 flwellcrenc

26. Choose the correct statement/statements from the following related to Jet streams:
ereumeuameupmer Qg stHCpriLmaser Qsrojurer sflurer sapHm/FapmsHamensd
Cainbls®:

I. Jet streams are the fast-moving winds blowing in a narrow zone in the lower
atmosphere.
adflvarLogdler S HHEGsaMd GnHwu LuGHsaid CgGeurs bHs L
snhmse QgL srhnser ererdlCnmbd.

II. According to the Jet stream theory, the onset of Southwest Monsoon is driven
by the shift of the sub-tropical westerly jet from the plains of India towards the
Tibetan plateau.

QgL stHCopriL Csmliumligen Uy, Semeaw Hwer Coened smHCoTLL LD
aLQu@mb Fwleadisad@mbg HOusHwu SLyblaw Crrsd
@Lbeuwuieugred CgearConE Umausasrhn 2 (meursearms.

II1. The easterly jet streams cause tropical depressions both during the Southwest

Monsoon and retreating monsoon.
S QgL smHCoprliLkisear QsarCnE WwHHL KWerarenL Wb Li[HeussTHm
srorsaled CeulILEaTL® STPI(IPSSEISME 2 (h6uTsE &l 6rn 6.
(A) Ionly
| @G
(B) IIonly
Il bW
(C) IIandIII
Il wpmw
(D) I,II and III
L, Il wpmd I
(E) Answer not known

cenL Qg flweilcrenc
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27. Which place receives the highest rainfall in the world?
o wdle e Hls ey werp CuUmD LGS erg?
(A) Mahabaleshwar
wasruGeeveurf
(B) Mawsynram
Qaélerymb
(C) Nilgiris
Beodlifleiv
(D) Singhbhum
3] ATHI)
(E) Answer not known
denL Qg flwellcvene

28. How many Biosphere Reserves are established by the Indian government?
Qrdwu rsmed afsemen 2 ulFECasrer srlusmser HmeuliLl (Hereren?

(a) 11

(B) 18

(C) 102

(D) 515

(E) Answer not known

cenL Qg flweilcenc

29. Choose the correct statement/statements from the following:

Nereueuameupmier Fflwnen sgmpm/sFmpmsaners CsiHosMH:

I. The Indian Board for Wildlife was constituted in 1952 to suggest means of
protection, conservation and management of wildlife to the government.
19529 1b g arlh) euamelloomi@s e ungariy wonw Coeraramwsd GNss
ufibgierrsemer remhssSneE euwprs HpelulL enwliy Q5w
auamelloom@ eumflub 9 GLWw.

II. The Government of India enacted the Wildlife (Protection) Act in 1973 with the
objective of effectively protecting the wildlife of the country.
auarclloBi@samer LUMHsTEGL CrréasgLean @b rs 1973Q
auarellon@ urgsTULE FLLmg Qupdlug.

(A) Ionly
| G
(B) IIonly
Il @b
(C) IandII
| womw Il
(D) Neither InorII
b @Qevene llb Qavene
(E) Answer not known
dllenL Qg flwellcenc
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30. Which of the following biosphere reserves is not under the list of Man and Biosphere
programme of UNESCO?

WQemrevCanallenr weafgen wHmd 2 ulfs GCasmer arius Sl gdear & QewouLns
2 WNF&Camer STULSSWD 6Tg)?
(A) Nilgiris
Beodif
(B) Agasthiyamalai
S55HW Wene
(C) Great Nicobar
CQuflw Ha&GCasmumy
(D) Kachch
SL&
(E) Answer not known

dlenL Qg flwellcenc

31. Choose the incorrect statement/statements related to Tropical Evergreen Forests:
QUL L&KW Wbrpré srhseda Qarjurer Seauprer dmdmnl/spmseners
Csinbls®:

I. Tropical evergreen forests are found in areas with 50 to 100 cm annual rainfall.
QWL L& wrmrs srhsefer g earh wenplublurfey 50 wpse
100 Q&8 LF eueny Q5 @GLW.
II. The annual temperature is about more than 22°C and the average annual humidity
exceeds 70 per cent in tropical evergreen forest.
Qe U&semw wrmré srhsefler g arh Ceaulubleane 220C&o
Sfswraab, syrsfl ear® Fruugw 70 ss6i558HnE GCogib
smewrLiLIBH &l meur.
(A) Ionly
| @G
(B) IIonly
Il bW
(C) ITandII
| womw Il
(D) Neither InorII
b @Qavene llb Qevencw
(E) Answer not known

allenL Qg flwellcvenc
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32. Choose the correct statement/statements from the following related to Tropical

Deciduous Forest:

Swer el Qaowdlis srtsear Csrigurer Fflwurewr Fpm/FmHmsaners

Csinbls®:

I. Tropical deciduous forests are found in areas with 100 to 200 cm annual rainfall.
Swen warLe Qamawdlis srtOsedr, yar® srrefl weapluGuTfley jerey
gwory 100 Q&.5 wpsod 200 Q&85 eueny o drer LGHsaller srewriiuibSermen.

I1. Tropical deciduous forests are called ‘Monsoon Forests’.

Sjwen wearLe QemouHis srhisamer L(HausESTd STHISET 6re6mmLb
S|P &S GLD.

I11. The trees of these forests drop their leaves during the spring and early summer.
Qsanhseice o drer LIRS wFHE STSHSD CarenL&sTesSen
wHuaHlugid auplfuller srramwrs Qanesamer 2 His5g alGHSermen.

(A) Ionly
| @b
(B) IIonly
Il @b
(C) III only
[l wl@Hw
(D) I,IIand III
L, I wpmd I
(E) Answer not known

denL Qg flwellcrene

33. Which is called a mangrove forest?
wriGGrmel sTOS6r aeaTmd HmWPssLILbug eTg?
(A) Alpine Forest

venuiem Hmh e
(B) Tidal Forest
Smaowns s srhHser
(C) Mountain Forest
L& STHS 6T
(D) Monsoon Forest
LU(HeuS SIS S(h&er
(E) Answer not known

allenL Qg flwellcenc
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34. Choose the correct statement/statements related to Mountain Forests:
Quuwwemas srthser CQarjurer sflurer gpm/spnsameasd CsiH0sM0:
I. Mountain forests are found on the slopes of the mountains in the north-east
states.
Quoumasd sThsear aLdflpseg Q@HHwu wrheokiseald o dear HPsE
Quuamad sFfloy LGSHSailcr SmeawrliLIEID.
I1. Mountain forests are found in areas with very low annual rainfall.
Blss @eamphs au@mLIHr wenplbumfle] o dear ugdsaled wawd TS
& mewr LI () &l 6o 6.
III. Mountain forests are found in Jammu & Kashmir, Himachal Pradesh and
Uttarakhand.
gy sraqly, Quorisal GrCssn wHmL 2 Ssrsam’. <y Hwu wrHoksaefd
EnSTH&6T & meuwrLiL[H &l erm 6.
(A) Ionly
| w@EW
(B) IIonly
I bW
(C) IandIII
| womid 1
(D) I,1Iand III
L, Il wpmd
(E) Answer not known
alenL Q5 flweilcrenc

35. Find out the incorrect pair:
saupren @enewmenwd CHIHGS0H!:

I. Fire Accident - ‘Drop, Cover, Hold’
8 alusgy “@llap! ey sCsmer! 19955 50sT6r!”
I1. Earthquake - ‘Stop, Drop, Roll’
HlomH& a0 “Bev! afp! 2 mer!”
(A) Ionly
| G
(B) IIonly
Il bW
(C) IandII
| womw Il

(D) Neither InorII
b Qaoveme llb Qevencw
(E) Answer not known

cenL Qg flweilcrenc
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36. Which is related to the following statements?
ereu@pld FapmsEsLen QFHTFUenL WG erg?
I. The river runs through Jammu & Kashmir, turns south near Chillar and enters
Pakistan.
gbW-sraguly aPurs uring e Csearypwrs urfleavsreaflen Heoemy
Lugduile mopdng.
I1. Its major tributaries are Jhelum, Chenab (largest tributary of Indus) , Ravi, Beas

and Sutle;j.
Qe genamurmser gow, Ferrl, gredl, Gwmev wHMLD FLOwY
QL Fwereun@Lb.

(A) The Ganga River System
sBIns B CHmELIL

(B) The Indus River System
fbgl ps CsTEUY

(C) The Brahmaputra River System
KyowUSSTT ROHNSESTSGUY

(D) Peninsular Rivers System
SuspHu QvHu oy miser

(E) Answer not known
denL Qg flwellcrene

37. Choose the correct statement/statements:
sfluner sapm/sapmsmears Csie CFUs:
I. India is the seventh-largest country in the world and second-largest country in
Asia.
@idwur uriuerelles 2 ewdlen greug Quflw BrTseywb, Y fw ST den
@rewLnreug QUi BILTSED 2 6Terg).
I1. India accounts for about 4.2 % of the total area in the world.
@idwureler Hleoliuriy yelluler Qurgg urliuearele 4.2 FsaigwrE@L.
III.India and Sri Lanka are separated by a narrow and shallow sea called 9° channel.
Qrduremcuud Qamamsawud Wilsgb Gndu g wwin sLd ugdH 9°
STOGUTL ,@GLD.
(A) IandIII
| womid 1
(B) IIonly
Il @b
(C) Ionly
| @b
(D) I,IIand III
L, I wpmd
(E) Answer not known
denL Qg flwellcrene
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38. Which is related to the following statements?
eraumd FapmasEpLer CST_fLUenLwg erg?

I. Itenters into India through a gorge in Arunachal Pradesh, namely Dihang.
QB Um mannssal NrCsssdaierer Samm erern wWene B)H\&S 6
aflurs @bHureln@er HenpHng.

II. It has many tributaries. Tista, Manas, Barak and Subansiri are some of them.
devLm, wenrev, LT wHMD Huemevf o fwemes Qeucurpien He WEHHwW
&6 60T WLIT M| & 6T G LD.

II1. This river is called Jamuna in Bangladesh.
ansamGsssdle QHs UM W aTaT HDWESLULGHEDS

(A) The Ganga River System
smens BhS CsTELL
(B) The Indus River System
fbg pd CsrEUY
(C) The Brahmaputra River System
KybwLUSSTT RHNS6sTEUIY
(D) Peninsular Rivers System
SuspHu QBHw oy miser
(E) Answer not known

dlenL Qg flwellcrene

39. Choose the correct statement/statements:
sflurer sapm/smpnsamers Csiey CFuis:
I. River Mahanadi originates near Sihawa in the Raipur district of Chattisgarh and
flows through Odisha.
wa&MEd &FSavany wrhlodHaerer Frliyi wraul L SHeierer Asrailha
S 2 pusHurdl @uer wrhlegder cuPurs LTLSDF
I1. Kolleru, a freshwater lake, is located in the deltaic region of the Mahanadi.
w&MpdH QLoLr ugdHulle pearaly gflurear QardCom gfl enwHeTers.
(A) Ionly
| @G
(B) IIonly
Il @
(C) TandII
| womd I
(D) Neither InorII
b Qeéveme llb Qeovene
(E) Answer not known

clenL Qs flweilcrenc
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40. Choose the incorrect statement/statements:

41.

seupren Fapm/sapnsemerd Cziey CFwis:
I. Godavariis also called Vridha Ganga.
Cargraufl emssaman aarajd mP&sLLGEDS.
II. Godavari originates in the Nasik district of Maharashtra, a portion of the Western
Ghats.
Cargreufl wanrpraylgr wrhlow BrHs wral Lo enwhgerer CoHEGS
QsrLi&dl weveuiled 2 pusHurdpng.
(A) Ionly
| @G
(B) IIonly
I bW
(C) ITandII
| womd I
(D) Neither InorII
b @Qaveme llb Qevencw
(E) Answer not known
denL Qs flweilcrenc

Choose the incorrect statement/statements:
seupnen Sapm/gapmaameard Care] Csuls:

I. River Brahmaputra originates from the Chemayungdung Glacier of the Kailash
Range to the east of Lake Manasarovar in Tibet at an elevation of about 5,150 m.
HOusde o drer wrawsGrreuy gfsE HPsCs msoreay wWanwsHolgTLfld
2 atem QEwwTWYBILE ey Ualwrdded &wry 5150 15 2 wirsHed mb s
2 pusSHwundlmg.

I1. River Ganga is known as Tsangpo (Purifier) in Tibet.

HOug udHule smens BH srmCur (Frienw) ererm GLwfled
SmP&ESLILGHS DG
(A) Ionly
| @b
(B) IIonly
Il @
(C) IandII
| womw Il
(D) Neither InorII
b Qeévene llb Qaovene
(E) Answer not known
cenL Qg flweilcrenc
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42. Choose the incorrect pair:
seupren @enewmenwd CHIHOSMH!:
I. Leasturbanised state in India — Maharashtra (10.04%)
@idHwunele @emphd BaFoLwWLIESIULL wrhow — wasrrraggyr (10.04%)
II. Most urbanised Union Territory in India — Delhi (97.50%)
@idwunele WGHS BasroLwrLrESLIULL Weflwer KMrCgsn — GLdel
(97.50%)
(A) Ionly
| @b
(B) IIonly
Il @b
(C) IandII
| whmib Il
(D) Neither InorII
b Qéveme llb Qaovene
(E) Answer not known

denL Qg flwellcene

43. Choose the correct statement/statements:
sfluner sapm/sapmsamears Csiey Csuls:

I. River Ganga is known as River Padma in Bangladesh.
ansGsesdle, stiems uswr eearn UL HanwpssliLGEng.

II. The combined rivers of Ganga and Brahmaputra creates the world’s largest delta
known as Sundarbans in Bangladesh before joining the Bay of Bengal.
shms LHMWL WrbwysdHrr gy nsa Csrng 2wfCaoCu Wasl Guflu
QLoLreneu 2 (heursdl e curismer elfl@Lrele so&Slermen.

(A) Ionly
| @G
(B) IIonly
Il bW
(C) ITandII
| womw Il
(D) Neither InorII
b @Qavene llb Qevencw
(E) Answer not known

allenL Qg flwellcenc
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44. Choose the incorrect statement/statements:
sflurer sapm/spnsamers Csie CFuis:
I. Narmada, Tapti, Mahi and Sabarmati rivers confluence with the Arabian Sea.
arsCges e, smens uswr eaerm GUWfd ampssiLBHEng.
II. In Karnataka, the River Kaveri bifurcates twice, forming the sacred islands of
Srirangapatnam and Sivasamudram.
shms LHMWL Wrbwysdrr gy nsa Csing 2wfCaoCu Wasl Guflw
QLeoLmenes 2 (heurddl e cumismer elfl@Lreled Sa&Slermen.
(A) Ionly
| . @EW
(B) IIonly
I bW
(C) ITandII
| womd I
(D) Neither InorII
b @Qaveme llb Qevencw
(E) Answer not known
denL Qs flweilcrenc

45. Choose the incorrect statement/statements:
seupnen Sapm/gapmaameard Care] Csuls:

I. The Narmada originates at an elevation of 1,057 m in the Amarganth Plateau in
Madhya Pradesh, has alength of 1,312 km and a drainage area of 98,796 sq km.
Biwemg wHHwul NrCsesde 2 drer ywisarrs Lybluid 1057 15
2wrgde 2pusdurd 1312 .85 Bearsengwyd, 98796 &.48.8 urluerey
algflogamsub CsmerLg).

II. Tapti River rises near the Kudagu hills of Karnataka at an elevation of about 752
m.
sud B &rBTLs wLIfsHO sLb LLLSHNBHH 752 15 2 wrsded GLG
eremp QLA BHE 2-HusHurdng.

(A) Ionly
| G
(B) IIonly
Il bW
(C) IandII
| womw Il
(D) Neither InorII
b Qaoveme llb Qevencw
(E) Answer not known
cenL Qg flweilcrenc
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46. Choose the incorrect statement/statements:

seupnen Fapm/sapmsmerd Czie CFwis:

I. Velloreistheleaderin printing, fireworks and safety matches production in India.
Caugni &ad Qzme, ulLre: Hpeuamkserer SUCULILS Swrflld
perGeanmguwing 2 ererg.

I1. Sivakasi contributes to 80% of India’s total safety matches production and 90%
of India’s total fireworks production.

@pHwurefenr Qurss SUCUL G 2pusHuicd 80% umiEg wombd 90% ulLns
2 HuSSH Heausrdlule 2 pusiHurdpg.
(A) Ionly
| @b
(B) IIonly
Il @b
(C) IandII
| wHombd I
(D) Neither InorII
b Qeéveme llb Qaovene
(E) Answer not known

denL Qg flwellcene

47. Choose the correct statement/statements:
sfluner sapm/sapmsmers Csiey Csuls:
I. River Mahanadi is called the sorrow of Bengal.
wETHH B eumsrarSHen FWID eTenm HMWPSSLILOSHDI.
I1. River Damodar is called the sorrow of Odisha.
stCwrsy s @ areller Wb erearm mP&ESLULGSDG.
(A) Ionly
| @G
(B) IIonly
Il bW
(C) ITandII
| womw Il
(D) Neither InorII
b @Qavene llb Qevencw
(E) Answer not known

allenL Qg flwellcenc
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48. Choose the incorrect statement/statements:
seupnen Sapm/gapmaameard Care] C&uls:
I. River Kaveri originates at Talakaveri, the Kudagu hills of Karnataka. Its length is
800 km.
srellfl g m &iETLs wrhlaogdd GLE waaulgidarer Famedsrailfluile
2 pusHwund) swry 800 .5 FrsHsE umLSpg.
I1. River Kaveri empties into the Bay of Bengal at Pichavaram.
srellfl g m WEsmaurb eaerm QLSO arss sl s&EHDS.
(A) Ionly
| @b
(B) IIonly
I bW
(C) ITandII
| wHomibd I
(D) Neither InorII
b Qeéveme llb Qaovene
(E) Answer not known

alenL Qs flweilcrenc

49. Match the incorrect pair regarding literacy rates in India:
@idwuraier soallwde; g updlu Feuprear Qanawarwsd CsIHOSM:
I. State that ranks firstin literacy rate of India — Kerala
@idureiler s awsshey alfswararwrbown — Csrerm
I1. Union Territory that tops in literacy rate of India — Delhi
@rdurele flas erpsshe Nfzd Gsrar_weflwer GNMrGCssn — Glcel
II1. State ranks lowest in literacy of India — Bihar
QpHurefen erdshey NfHD Gevpeuns 2 eter wrHlew — S&TF
(A) Ionly
| @G
(B) IIonly
Il @b
(C) III only
Il L EW
(D) None of the above
CuopsearL 6rgle|dldene
(E) Answer not known

denL Qg flwellcenc
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50. Choose the incorrect statement/statements regarding migration in India:
@idurailer @LLUCUWFe upHlu Seupren Fapm/Fapmsamearsd Care QFus:
I. 45 out of 121 crores of people in India are reported to be migrants as per 2011
census.
2011 gpb Y ear® WwesahsTms savsbasplulearuyg, @bSHuredd 121 Camg
wasafles 45 Camg wWSET QLD GLIWFTHS6UTSETTENTSGET.
I1. Migrants constitute about 37% of the population.
QLbQuWIBCsT waser Cgrensuilcs 37% o erereny.
III. Migrants are 48% from females and 52% from males.
QLuQuuyeile 48 ssaigd QuUamsEpb 52 F56I5D Y aTHEHL 2 cTaTay.
(A) Ionly
| @b
(B) IIonly
I bW
(C) III only
' L @EW
(D) None of the above
Cuopsear ergaLlcoene
(E) Answer not known

alenL Qs flwellcrenc

51. Which of the following is incorrectly stated?
SpssaT_upmieT Seupmen Fmdm erg?
(A) Saudi Arabia is the largest oil producer of the world.
2 wdlenr WsLQUAw eramwCenry 2 HpusHwrery Foydl HCrwm
(B) Russia is the second largest oil producer in the world.
2 wflenr @rewrLnmeug WsLQUAW erawCenr 2 HuSHwrery Fagwm
(C) Indiais the 4th largest producer of oil in the world.
2 wdlenr prensreug WsLGUAw erawCenry 2 pusHwrery Q@bHwim
(D) The Middle East contains 60% of global reserves.
2 @& eramblenl @mUbe 60% g wsHwu HsE BrEsEr G&meT (b ereren
(E) Answer not known

allenL Qg flwellcvenc
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52. Most anthropologists believe that hundreds of thousands of years ago humans first
appeared in
BIOM&Sanssner, UIrssarsstar Y aTO&SE@HEES (e walgisear W6l
Corenlu @L1D ererm e 6N WGTETEHET BHLOL|6US)
(A) The Euphrates and Tigris valley
wliresy wHMD emLsflev LTSNS S
(B) The Indus valley of Asia
pflwunelen Apg LaTTSFHNTES
(C) The Great Rift Valley in East Africa
fpse I uaflsardle Qufiu Kereyl udTaTssTE S
(D) The Nile valley of Africa
Qulflssrellenr enped LETATSSTES
(E) Answer not known

denL Qg flwellcrene

53. Consider the following statements.
Nereu@euemeupmier Fflwnen sgmpm/sFmpmsanears CsiHos0H:
Statement I: Mountains are second order landforms.
gapm 1. wenosedr @ramLmd Bl HosCsmhprisedr g GLw
Statement II: The Mariana Trench is the deepest trench in the world.
gapm 2. Bse|b g wwrar HsP wiluram s
Which of the statement(s) is/are true?
(A) Iistrue;Ilis wrong
spm 1 &f, sapm 2 seum
(B) Iiswrong;Ilistrue
spm 1 seuml, sapm 2 &l
(C) Both the statements are true
Qrean®h SapmsEpd &if
(D) StatementsIand II are wrong.
Grar® SpysEsL Houm
(E) Answer not known

enL Qg flwellcene
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54. The natural boundary between Spain and France is

avGuuder wHmWD KrTerevdE QenLulled QupenswTsGol HenLOHFIGTET 6T66n e

(A) The Alps
9}, G LIG

(B) The Pyrenees
NIy 6IF 61v

(C) The Carpathian
sryGL Sw e

(D) The Caucasus
& & 66NV

(E) Answer not known
alenL Q5 flweilcrenc

55. The area found between 0° and 180° E lines of longitude is called
0° s 180° Spse S7s55Casnh eeny srawlu@BbL Lell uGdH Qeucumrm
SMP&ESLILIHILD
(A) Southern Hemisphere

QD@ SersGsmerd
(B) Western Hemisphere
ConE SarsCamerd
(C) Northern Hemisphere
UL mrsGamenid
(D) Eastern Hemisphere
pé&@ amrsGamerd
(E) Answer not known
cenL Qg flweilcrenc

56. Assertion (A) : The deltas are formed near the mouth of the river.
Fadm . WP&SHUTTU LUGHUYD Y msearmed Gl Té&ser 2 meurdermer.
Reason (R) : The velocity of the river becomes slow when it approaches the sea.
snyewrd | SL&® UuGHew Hm evLuwd Curg ynder Causwbd Genmujb.
(A) Both A and R are correct
afhm WLWOHMD STrewd Qreaw@®b &Fifl
(B) Aiscorrect and Ris wrong
Sapm &fl LHMD STreTd Heum
(C) Aiswrongand Ris correct
Sahm Seum WLOHMD Srrewrd il
(D) Both A and R are wrong
oM LHMD STrewrd QrearOL &eumn)
(E) Answer not known
denL Qg flwellcrene
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57. Where is the largest solar power project situated in India?
Blauouilu G&flu PhHnd b @HSHuredd @ bl ererg)?
(A) Kamuthi
s
(B) Aralvaimozhi
QL TeaumiGlomf
(C) Muppandal
PULBSD
(D) Neyveli
QB uICeue
(E) Answer not known
allenL Qs flweillcrenc

58. In which state is the Kaziranga national park located.
ahs wrhlesde srflriisr CsHwu Yriar enwbglerers) ?
(A) Rajasthan
B 7T ER6N & M6
(B) West Bengal
CunE eumIETeTLd
(C) Assam
S| FMLD
(D) Gujarat
G&RITS
(E) Answer not known

dlenL Qg flwellcene

59. The science of map making is called

HoaeamruLd 2 @marsgsdear dlellwd KGfley erar  JempssLLGSDG

(A) Geography
Helulwed (DCwrdlyme.q)

(B) Cartography
&TrCLrélym.sL9

(C) Physiography
el Cuir S pma

(D) Physical Geography
Quads LeNullwe

(E) Answer not known
clenL Qgflweilcrenc
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60. Match the following.
Qumrmsgis:
A.Granite - 1. Bed rock
Slrrene_ SllgLILiTenm
B.Soil layer - 2. Plutonic rock
wer HHES Sl WL LITEn D & 6l
C.Barrenisland - 3. Strip farming
ungenr ey Ul el uudfle Geuermesrento
D. Soil conservation - 4. Active Volcano
LOGUT GUGTLILIMGISMLIL] Qewdu@w erflvenc
(A) 2143
(B) 2134
(C) 4321
(D) 3421

(E) Answer not known
clenL Q5 flweilcrenc

61. is used to measure the humidity.
crarm &H@Hell FrUUSSMS JeT&sE LwerUhEmg.
(A) Anemometer

anhHmiomefl
(B) Barometer
Sihs e
(C) Hygrometer
rrflenc wrefl
(D) Thermometer
Qeuliu el
(E) Answer not known
alenL Qs flweilcrenc

62. Silk weaving and household industries come under the category of
UL® Qpse) wHMD L@ 2uCursl QurEBL a6 #rihg 6% ML es ks er
Wfleysefler & eumdlemmen.

(A) Small scale industry

Aflw ereflooren QgmflesLd
(B) Large scale industry

CQuflu erelleonen GHTHELD
(C) Marine based industry

sLaelend FMihs GsTHlesd
(D) cCapital intensive industry

ppugerd FriHs CFmflosid
(E) Answer not known

dlenL Qg flwellcvenc
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63. The man-made canal through an isthmus between Egypt and Sinai Peninsula is
qHufp@ Aami SUsHLUSHDGWL QL uld @@ Hossnd auluns o (HeurdsLiul L
Qewmhens SmTeeuml

(A) Panama Canal
LIGTLON & TGO GU LI
(B) Aswan Canal
S| GVGUTGH & TGV GU T
(C) Suez Canal
GWen SHTeOeumul
(D) Albert Canel
QLOUFL STeO6UTW
(E) Answer not known

dlenL Qg flwellcene

64. The point of origin of an Earthquake is called the
Hell ffe| 2 (peun@Ld Lemefl crarm emP&ESLILGS DS
(A) Epicentre
Gueenwwid
(B) Focus
Spenowid

(C) Seismic wave

Lol dfey maser
(D) Magnitude

Heoll fjellerr Sy
(E) Answer not known

cenL Qg flweilcrenc

65. Which of the following is not correctly matched?
Nemeu@euameupmer sflwunst QUImBSTSS 6TH?
(A) Gulf Stream - Pacific Ocean
aumeargLr BCrmliL - 9A98 QumhisLc
(B) Labrador current - North Atlantic Ocean
orirLry sLoBCrmlLb-uL |l onarigd ClLmhisL 6
(C) Canary current -Mediterraneansea
CaarflsLofCrmiLib-wsHugamrss e
(D) Mozambique current -Indian Ocean
Qurembl9é sLodBCrmiLb- @bHw QuUEHRESL D
(E) Answer not known
cenL Qg flweilcrenc
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66. The ‘World Population Day’ is observed on every year.
paGaunry arhb 2085 WwEsHE Cgmms Jerd QLD BT
senL g &5LUO S DI

(A) August1ith
< sev® 11

(B) September 11th
Qesliuwur 11

(C) July1ith
gOame 11

(D) January 11th
sameufl 11

(E) Answer not known

denL Qg flwellcrene

67. Assertion(A) : Ozone layer in the stratosphere is considered as a protective shield.
gapm (A) : u@sms YO&H0 oeter @GsFTem ULFms urgsmiy CsLwid
TS Comid.

Reason(R) : It prevents the UV radiation from reaching the earth’s surface.
sngemd (R) : yp ecawgnéadly ofds yaleow yenLwnwed sH&HnE.
(A) AandR are correct and A explains R
A ayb Rib &fl wpmbd A ererug Rer sflumenr elergsid.
(B) A and R are correct, but A does not explain R
A womb R @rew@w &fl. g enmed, Aeauneng Rer sflumer ellerdswee.
(C) AisincorrectbutRis correct
A saum. e, R &fl.
(D) Both A and R are incorrect
A ppmbd R @raw@h &fl.
(E) Answer not known

cenL Qg flweilcrenc

UNIT - Il - GEOGRAPHY OF INDIA PAGE NO | 31



PRACTICE QUESTIONS
MANIDHANAEYAM FREE IAS ACADEMY www.mntfreeias.com

68. Which of the following statements belongs to responding to earthquakes?
Spsarayd  QerplprLgsefles g Hop@sssas adf QararauCsnf
Qar_gyenLwg?

(A) Avoid any place where police or security forces action is in progress.
‘Breid genm wHMIL LUTHSTULL uemLulery urgasmiyl uenfluflc
FOULGMSGL UGHsEnrs@sF Gsme Geusmmmb”.

(B) Know the height of your street above sea level and the distance of your street from
the coast.
‘L LLLSHNMmBG 2miser QH@m ereucuere] 2 wWrsded 2 6rerg LOHHILD
sLCorrg el (hha ereucuete] FMTsHHed enohIeTers erend
Qs fHgCsTeTeraLD”.

(C) Stay away from glass, windows, outside doors and walls and anything that could
fall.
‘samenmiy& senened, CeuallsEsgea|ser, seauf wHMWD eraflfed ol sniquwl
QgL Werelleard@aer HML rFFTwrender GLimerneud e mbg
e dlullmaaseayb”.

(D) Before opening a door, feel it with the back of your hand.
‘agemed SHplLsnE WPy Upheanswnd sgamead Qsri® Geuliuwrs
2 WMIHSTD SHemeud Hnédas CeuewrLmbd”.

(E) Answer not known

alenL Qs flwellcrenc

69. The Palk Strait and Gulf of Mannar separates India from
uné Bresd wHMHID WETeTTT cueneT@LT & QnHwredl L w5 g
A& mz.
(A) Goa

Cameum
(B) West Bengal
CuhHE@ euBISTETLD
(C) SriLanka
GVIFEIST
(D) Maldives
reéS 6
(E) Answer not known

cenL Q5 flweilcrenc
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70. Which of the following atmospheric structures absorbs the ultraviolet rays of the
sun and protects the earth from intense heating?
eraumd euefivamo emwiifed Gllwueaflb @mbE u@@mb Uy 2asrs sHisamer
o L Slrdlss yedl QeauliuenLwmoed urgsniy (&S ergl?
(A) Troposphere
SRWOES
(B) Ozonosphere
RCamenr HEG
(C) Thermosphere
Qeulin HH&G
(D) Exosphere
Qeuellu@® & o
(E) Answer not known
cenL Qg flweilcrenc

71. Which of the following organization has divided the Indian soils into 8 major groups?
s Hoeueard @BbHwureles o drer wer euenssemer 8 CuU@L Wfleysermsl
N S gleTemg)?

(A) Indian Council of Agricultural Research
A Geuermer gy pmi&sl Hlmeuerd
(B) Indian Meteorological Department
QrHw auraflwe Feom
(C) Soil Survey of India
QS wer dleflwe Hmeuerid
(D) Indian Institute of Soil Science
QrHw wer g uiey Hmeuerd
(E) Answer not known
alenL Qs flweilcrenc

72. Thelongest dam in the world is
2 wHCCw 10& Berwrer ojemenr
(A) Mettur dam

CuLET <emeur
(B) Kosidam
Canél o enemr
(C) Hirakud dam
adlrr@L ememr
(D) Bhakra-Nangal dam
LU&ETTHRISO | 6m 6ur
(E) Answer not known
denL Qg flwellcenc
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73. Which crop is called “Golden Fibre” in India?
@rdwurele sEis Qenpls LT erem P sLILHEUF
(A) Cotton
LBSS
(B) Wheat
Canglenio
(C) Jute
& GU0T 6V
(D) Tobacco
L0 & ullem ev
(E) Answer not known
cdenL Qs flweilcrenc

74. One of the shore based steel plants of India is located at

Qi sLpEsmr UGH QLY 6@ CFTHOSEISEHET Q6Tm SenHIeTer QL Lb.
(A) Kolkata
Qamcwassm
(B) Tuticorin
ENEETICES
(C) Goa
Cameum
(D) Vvisakhapatnam
aflFrs UL ig GurLd
(E) Answer not known

denL Qg flwellcrene

75. Assertion (A) : Tamil Nadu does not receive much rainfall from southwest monsoon.
gapm: SWOHHIH QFerCHEG LmausTHN STokseald fs wanpamwliumn e Sdame.
Reason (R) : It is situated in the rain shadow area of the Western Ghats.
snryenrd: @3 ConE OsTLFES waawller e wanpayll KNITCsHEs S bl 6Ters)

(A) Both (A) and (R) are true and (R) explains (A)
gapm, strewbd @reavr@®b Ffl. sTreawd sFmpeny elersGHDF
(B) Both (A) and (R) are true but, (R) does not explain (A)
oM, sTrawd @Qraw@d sfl. Hemed sTrawhd smpenn ebersseddeme
(C) (A) istrue but (R) is false
gapm &fl. Qenred STrENTd FHeum)
(D) (R)istruebut, (A) is false
sy &fl. D FmHn FHeum
(E) Answer not known
cenL Qg flweilcrenc
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